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QUESTION 1

Which of the following BEST enables an enterprise to show and prove the benefits realized from the implementation of
an EGIT program plan? 

A. Adopting performance metrics that are easy to achieve 

B. Tracking expected benefits and targets until program implementation 

C. Delivering a solution from a long-term and complex project 

D. Communicating the results and benefits in business impact terms 

Correct Answer: D 

Communicating the results and benefits of an EGIT program plan in business impact terms is essential for an enterprise
to be able to show and prove the benefits realized from the implementation. This includes providing clear evidence of
how the program plan has created value, such as increased efficiency, cost savings, and improved customer
satisfaction. Additionally, it is important to ensure that the results and benefits are communicated to all relevant
stakeholders to ensure that they are aware of the value created. 

 

QUESTION 2

The alignment goal titled "Knowledge, expertise and initiatives for business innovation" is aligned to which IT balanced
scorecard (BSC) dimension? 

A. Learning and Growth 

B. Customer 

C. Internal 

Correct Answer: A 

 

QUESTION 3

Once IT governance is implemented, what is the NEXT phase in the life cycle of governance? 

A. Measuring objectives 

B. Initiating improvements 

C. Updating the program 

Correct Answer: B 

 

 

QUESTION 4
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Which of the following COBIT components is a PRIMARY driver for the execution of corrective actions required to
achieve governance or management objectives? 

A. People, skills and competencies 

B. Organizational structures 

C. Principles, policies and frameworks 

Correct Answer: C 

 

 

QUESTION 5

An enterprise that specializes in software development is designing a new IT governance system as part of a transition
from traditional waterfall to a more agile approach. Which step in the design phase would this transition impact the
MOST? 

A. Compliance requirements 

B. Implementation method 

C. Sourcing model 

Correct Answer: B 
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